Definition of the Derivative Practice

Interpret each of the following as a derivative. Evaluate if possible.
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=5, which of the following must be true? (not multiple choice)

A) f(x)iscontinuous at X =2

B) f'(2)exists

C) f(x)is differentiable at X =2

D) f(2)exists

E) f"(2)exists



Using the given u-substitution, determine a definite integral that would have the same value.
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Use the given information to determine an equivalent equation involving a definite integral.

7. j:f (2x)dx =12
8. ff (2x—-3)dx =5
9. j: f(X)ix =6

10. E’f (2-x)dx =4

11. jff(§+1)dx:3

12. J':f (e?’x)- e¥dx = -3



